> A
A & 0l & AF 2 E A A
20198 T 20lA BN OLBAED
AN 0 aE D
g Hd=x 58
@2 Hg=EX 22X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HeEEAED 36,761,207 32,327,480 4,433,727
= 13,254,194
J| 2,148,193
= 12,163,574
Al 9,195,246
sk & 5,110,397 3,250,771 1,859,626
= 713,947
J| 1,962,841
< 621,547
Al 1,812,062
HE=X 20X 3,731,103 2,209,777 1,521,326
= 713,947
J| 1,962,841
< 421,730
Al 632,585
AEZS0GHA 228,288 X 950 1,000 A50
J| 665
< 143
Al 142
307 21201 A 950 1,000 A50
J| 665
< 143
Al 142
EEEETEEELT 950 1,000 A50
Od=Zd Iohkt 2d=zH K& 950,000& 950
J| 665
< 143
Al 142
HEEY 23 Al SML ExUS 480 480 0
9] 240
< 120
Al 120
307 glz2tol & 480 480 0
J| 240
< 120
Al 120
TS =T S 480 480 0
ONWE=g 2 A4 SAXN Exu=S
480,000& 480
J| 240
< 120
Al 120
SOHOHOISH R XIJAE E AL 2F 408,410 403,970 4,440
Jl 285,887
< 61,262
Al 61,261
307 glz2tol & 408,410 403,970 4,440
J| 285,887




ARG RS~

HHM: EESK &
H: &8 =EX 20X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 61,262
Al 61,261
10 MM SAANEEHESIHEX 180,000 180,000 0
OXSOHOHIIoH KRR AIE (KEXRFMH)SH X
(49) 180,000,000 180,000
J| 126,000
= 27,000
Al 27,000
11T AISIEXAIEEX 228,410 223,970 4,440
OXSOHOHII o XX & A& (K E X RHE )AL X &
228,410,000 228,410
J| 159,887
& 34,262
Al 34,261
IIEEZH Il A XIgsE T2 2 o 2H A& 586 652 A\ 66
J| 410
& 88
Al 88
301 LBt A= 586 652 /\ 66
J| 410
& 88
Al 88
01 Al B & A 46 2 586 652 A\ 66
OJIEdZ=20ol X 2 SHI X& 586,000& 586
Jl 410
& 88
Al 88
HEH JIEEZd AL 2N 107,513 75,610 31,903
J| 53,756
o= 26,878
Al 26,879
307 QI2t0| ™ 107,513 75,610 31,903
J| 53,756
= 26,878
Al 26,879
10 AISIEXAIEEHE2IHIEXR 107,513 75,610 31,903
OdZsEAMYA 2H(1HA,39)
107,513,000 107,513
J| 53,756
= 26,878
Al 26,879
s=20us 29 22,163 22,162 1
J| 15,514
o= 998
Al 5,651
307 2I2t0| ™ 22,163 22,162 1
J| 15,514
= 998




SH: HEEAED
Ha: e =x B

Cel: =X 20X (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 5,651
11 AISI S XA E = 22,163 22,162 1
Os=0uE 2L (1) 22,163,000 22,163
J| 15,514
< 998
Al 5,651
Ct2sots S3AY 145,480 54,900 90,580
| 101,836
< 6,546
Al 37,098
307 21201 A 145,480 54,900 90,580
| 101,836
< 6,546
Al 37,098
11T MISXASEEX 145,480 54,900 90,580
OLUE2stItE SstAg(dogy, SHAME A
, Ol ESd0EExyd, Y2USAHHA)
145,480,000& 145,480
| 101,836
< 6,546
Al 37,098
AZ0HE & URIE NJdH 29 351,300 328,280 23,020
| 175,650
Al 175,650
307 glz2tol & 351,300 328,280 23,020
| 175,650
Al 175,650
10 M ZXNANEHI2IHE=S 335,700 313,184 22,516
OA2IHE & UI23ItE XYW 2 (1A
,99) 335,700,000& 335,700
| 167,850
Al 167,850
11 AISISAAISEE = 15,600 15,096 504
OAZIHE & UI23It=E XNYAWE AY 29(
10 4) 15,600,000 15,600
| 7,800
Al 7,800
otol=s K& 1,019,925 550,709 469,216
= 713,947
< 152,989
Al 152,989
307 glz2tol & 1,019,925 550,709 469,216
= 713,947
S 152,989
Al 152,989
10 M ZXNANEHI2IHE=X 71,395 132,456 A61,061
OMBIAMEDI2 22 (101, dgold 3Y)
71,395,000& 71,395




CodEAEn
HEsA s
S OHE=EX 20X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 49,977
< 10,709
Al 10,709
11T M SXAISE EX 948,530 418,253 530,277
OotolEss k& 948,530,000 948,530
= 663,970
< 142,280
Al 142,280
Fadsea HEIJOIS/XH) 32,765 18,680 14,085
J| 26,212
< 3,276
Al 3,277
301 et a3z 32,765 18,680 14,085
J| 26,212
< 3,276
Al 3,277
01 AR 2Z A5 3 32,765 18,680 14,085
OFAdsIEE X2 (18¥) 32,765,000 32,765
J| 26,212
< 3,276
Al 3,277
NAS s822 IEXNH(IIS/XE) 1,549,151 635,951 913,200
J| 1,239,321
< 154,915
Al 154,915
301 g4z 1,549,151 635,951 913,200
J| 1,239,321
< 154,915
Al 154,915
01 MEI2EZE 06z 1,549,151 635,951 913,200
OMAS stE22IHF X2 (762%)
1,549,151,000& 1,549,151
J| 1,239,321
S 154,915
Al 154,915
ANE g4X & - Xz X 6,580 7,496 A916
J| 3,290
< 1,645
Al 1,645
307 gl2tol & 6,580 7,496 A916
J| 3,290
< 1,645
Al 1,645
11T M SRAISE EX 6,580 7,496 A916
OStRLZINEEXNAE Lai &4 & I=X2
(10MITH) 6,580,000& 6,580
J| 3,290
= 1,645




ARG RS~

g Hd=x 58
@2 Hg=EX 22X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 1,645
SHR2IIE EXAIE 003 MHIAXA 85,800 0 85,800
J| 60,060
< 12,870
Al 12,870
307 glz2tol & 85,800 0 85,800
J| 60,060
< 12,870
Al 12,870
11T M SXASE EX 85,800 0 85,800
OsR2ItE SXAI4E otolEes MEIAXIR (5
) 85,800,000& 85,800
J| 60,060
< 12,870
Al 12,870
HEsk geX& 847,794 793,994 53,800
< 199,817
Al 647,977
OEIE d3XA 29,000 29,400 A 400
201 Let249] 18,600 19,000 A 400
01 At 22l 15,600 16,000 A 400
OZANYDS SMLS(RZY HES0HLD
g 8) 250,000& *43] 1,000
OSSHA YHBSH ST L 24
2,000,000& 2,000
Ondlts 2 e 44 S 7,600
—AHESARE 100,000& »10E x 13l 1,000
OISOEE XA 2SI
100,000& 10 13l 1,000
OISO X9l 42AdE23
100,000& »10H »23] 2,000
-GE3IIEX2E 23 100,000& 11 »23| 2,200
L LB L
100,000& 10 13l 1,000
-Ol0ISsSMHIARSII2 X3 AARIRS
100,000& »4H 13 400
OW&IE & UMY SEEMHR(EY
g) 4,000,000 4,000
ONETIASAEES BMIH 1,000,000& 1,000
02 2324l 3,000 3,000 0
O3Exeg XlI(10H) 3,000,000 3,000
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
OJNFHLEEN & U2Ag=d
4,000,000& 4,000




SH: OEEAED
Ha: e =x B

R =X Letx S (2 &HH)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
203 R F & 5,000 5,000 0
03 AIZH =X 2= X H| 5,000 5,000 0

OUMEAED AMZRALEA|
5,000,000& 5,000
301 Bt A= 1,400 1,400 0
09 HAIAHI EAZ 1,400 1,400 0
O4dits(U2sh)us, 39 Holu s
1,400,000 1,400

AHNHESF2H HAIRY 13,300 14,000 A 700
307 212t0| ™ 13,300 14,000 AT700
11 A EXAIEE X 13,300 14,000 A 700

OXHEBESF2 A2 13,300,000 13,300

ANZESRFHEISEATZ IS 4,200 4,000 200
201 Bt 4,200 4,000 200
01 AP 22| H| 4,200 4,000 200

O3Rd HEISE2LHEI} g 899

4,200,000& 4,200

IIEZE, 4=, 4000 W2 w=s 20,000 15,000 5,000
= 6,000
Al 14,000

307 2Iz2t0| & 20,000 15,000 5,000
o= 6,000
Al 14,000

11 A EXAIEEX 20,000 15,000 5,000
OASIta ZH0en= 20,000,000 20,000
& 6,000
Al 14,000

IIEZEZHE, 4 MEA T 2,400 1,800 600
& 720
Al 1,680

301 et A= 2,400 1,800 600
& 720
Al 1,680

01 A3 B & A 46 2 2,400 1,800 600

O8=2MLL BAR S4+224Y

50,0008 x4 «12& 2,400
& 720
Al 1,680

SOHOHIIOH AH A& AlEd2Y 3,600 3,600 0
& 1,080
Al 2,520

301 LBt A= 3,600 3,600 0
& 1,080




SH: OEEAED
Ha: e =x B

Sl Ol =T YBHK CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,520
01 MEIBZE 06z 3,600 3,600 0
OEUHOHLIH XK R AIE SAA S22
50,0003 x6H x12& 3,600
< 1,080
Al 2,520
sSgEHAH A XA 3,600 9,823 NG,223
< 2,520
Al 1,080
307 glz2tol & 3,600 9,823 NG,223
< 2,520
Al 1,080
11T M Z2XASE EX 3,600 9,823 NB,223
OsgYHMEIAXIR 3,600,000& 3,600
< 2,520
Al 1,080
HEEY 2HAE SAX ML 5,850 4,800 1,050
< 5,850
301 et a s 5,850 4,800 1,050
< 5,850
01 MEIBEE 263 5,850 4,800 1,050
ONWd =g 2HEANE SAMAL MRIHAHI
5,850,000& 5,850
< 5,850
StRE2IIE 2XAE & 23,332 23,332 0
< 11,666
Al 11,666
301 et a = 7,200 7,200 0
< 3,600
Al 3,600
01 MEIBEE 053 7,200 7,200 0
OZX(OIEL2R)=EXNAE BAL Sx222E
200,000 x3H «12& 7,200
< 3,600
Al 3,600
307 glz2+0l & 16,132 16,132 0
< 8,066
Al 8,066
11T MISRASER 16,132 16,132 0
OLR(DIEZ2M)SXNAE2G (1HL)
16, 132,000& 16,132
< 8,066
Al 8,066
StREIIE EXAE 29 330,261 330, 261 0
< 33,026
Al 297,235




SH: OEEAED
Ha: e =x B

ool HA=X Usx e (CHel ® )
- _ _ RE!
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
307 QI2t0| & 330,261 330,261 0
= 33,026
Al 297,235
10 Al SXAIEEE2IHI X 198,432 193,742 4,690
ORX(OIESR)ERNALSHE(1HA,38)
198,432, 000& 198,432
& 19,843
Al 178,589
11 AMISANAEE X 131,829 136,519 A4 ,690
ORX (0BRSS AIL2H (1Ih4)
131,829, 000& 131,829
== 13,183
Al 118,646
SHERIIE 2XAIL AL XA 1,800 2,400 AB00
= 1,800
301 LBt A= 1,800 2,400 A 600
= 1,800
01 M BEEEG2 1,800 2,400 A 600
OBIEDNE EXAE SAL MR
50,000& *3¥ « 128 1,800
= 1,800
SIEQIIE 2NAIL(DESRHAIL) G2 10,000 0 10,000
= 3,000
Al 7,000
301 et A= 10,000 0 10,000
o= 3,000
Al 7,000
01 M BEEE2G2 10,000 0 10,000
OUEIRAIE JEXNAZ X
5,000,000& 2 10,000
= 3,000
Al 7,000
HASSEIINAEXA(ZH|) 247,700 258,600 A 10,900
o= 74,310
Al 173,390
301 et A= 247,700 258,600 A 10,900
& 74,310
Al 173,390
01 MIIEEE G2 247,700 258,600 A 10,900
OMAESE S22IE XA(1,6279)
247,700,000& 247,700
= 74,310
Al 173,390
SHER2IIE NEs N A WsHXAH 9,654 10,254 A 600
o= 4,827
Al 4,827




2N
X ZH -
L= B

el

HeEAEN
HegsEx s
HesSX detX#

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

301 €EtE &=

H

Al

9,654

4,827
4,827

,254

_J'k_
= DEsn M nSHXR(113E)
9,654,000&

= M

9,654

9,654

4,827
4,827

,254

A 600

H

Al

6,000

3,000
3,000

,000

307 21201 &

= M

6,000

3,000
3,000

,000

M ARISXAISE L

OZS0l2X &=0

FA

EJ

= (102)

6,000,000

H

Al

6,000
6,000

3,000
3,000

,000

Y
rlo
o
o
>
=)
O
o
P
Q
pa
o

= M

7,000

3,500
3,500

,000

1,000

307 21201 &

= M

7,000

3,500
3,500

,000

1,000

A S XA E =

OZEOYUXN XEFE HY XA (1HA)

7,000,000

= M

7,000

7,000

3,500
3,500

,000

1,000

2ttt g2stsi X

H

Al

7,200

3,600
3,600

,200

307 21201 &

= M

7,200

3,600
3,600

,200

A S XA E =

ot2sItd Y g=2ssi X
18,000& *40& 102

= M

7,200

7,200

3,600
3,600

,200

Ct2sttE MEEHE 2

2l

Al

2,824

1,412
1,412

,824

307 21201 &

n

Al

2,824

1,412
1,412

,824




2N
X ZH -
L= B

el

HeEAEN
HegsEx s
HesSX detX#

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 2,824 2,824 0
OUE3IE MEZHZE 29 (4%) 2,824,000 2,824
= 1,412
Al 1,412
Ch2sthdl2 =X 5,000 5,000 0
< 1,500
Al 3,500
307 21201 A 5,000 5,000 0
< 1,500
Al 3,500
11T MISXASEX 5,000 5,000 0
OU=stbel2 #= XIA(3,333%) 5,000,000& 5,000
< 1,500
Al 3,500
CHESHAISIE 918 QAIRA ALY 10,000 5,000 5,000
= 3,000
Al 7,000
307 21201 A 10,000 5,000 5,000
= 3,000
Al 7,000
11 ALS S XAEE = 10,000 5,000 5,000
OCt23tAtEl Olof = 10,000, 000& 10,000
< 3,000
Al 7,000
2BIE 2 SEHH SML EF2RE 18,000 18,000 0
< 5,400
Al 12,600
301 et d = 18,000 18,000 0
= 5,400
Al 12,600
01 MEIBEZE 405z 18,000 18,000 0
OAd2IE U SEHEH ML Ex222Y
100,000& =15 »12& 18,000
< 5,400
Al 12,600
AZ0E & SEHEH BMA MRS 8,400 8,400 0
< 8,400
301 et d = 8,400 8,400 0
< 8,400
01 MEIEBEZE+05l= 8,400 8,400 0
OALINE o SEUH AKX HRMAYI
50,0003 x14H 128 8,400
< 8,400
O2sls sot2leg 243 Xa 4,500 4,500 0
= 1,350
Al 3,150




2N
X ZH -
L= B

el

HeEAEN
HegsEx s
HesSX detX#

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 4,500 4,500 0
< 1,350
Al 3,150
11T M SXASE EX 4,500 4,500 0
OC=23otxs s0tel2Y 435 XA (3M)
4,500,000& 4,500
< 1,350
Al 3,150
JIIS0tUsH 298 N 17,400 15,000 2,400
< 5,220
Al 12,180
307 gl2tol & 17,400 15,000 2,400
< 5,220
Al 12,180
11T M 2XALSE EX 17,400 15,000 2,400
OZJIs0tU=sH 29 XA (1)
17,400,000& 17,400
< 5,220
Al 12,180
ZII=SR 0lg21=s K& 5,000 2,800 2,200
< 2,500
Al 2,500
307 21201 A 5,000 2,800 2,200
< 2,500
Al 2,500
11T ALS S XAEE = 5,000 2,800 2,200
OZII=ER 0IE2ADIItE AE(125H)
5,000,000& 5,000
< 2,500
Al 2,500
ANE 2 EMots 235 H A 3,000 3,000 0
307 21201 A 3,000 3,000 0
11T M3 SXAISEEX 3,000 3,000 0
OXtH 2 &Mot=s 23" A A 3,000,000& 3,000
ZII=R USstAte ASZZ20H 22,500 0 22,500
< 6,750
Al 15,750
307 gl2tol & 22,500 0 22,500
< 6,750
Al 15,750
11T M SXALSE EX 22,500 0 22,500
OZI=L URs 48 T2 (101L)
22,500,000& 22,500
< 6,750
Al 15,750




SH: OEEAED
Ha: e =x B

Sl GlH =X YUK 2 (ol @)
SA - BB B () - MM - BES Ol &t o San HmEET
SN2 EH T2 29 7,500 0 7,500

307 gl2tol & 7,500 0 7,500
11T AS S RAEE = 7,500 0 7,500
O S|O0tde =208 22 7,500,000& 7,500
OEZAMoi A XNJAAIE o1AH X 18,773 0 18,773
= 9,386
Al 9,387
307 g1+l & 18,773 0 18,773
< 9,386
Al 9,387
10 ALSISXAIEHE 22X 18,773 0 18,773
OS =Tl XIAAE o8 XA (L=
agA SALL 401) 18,773,000 18,773
< 9,386
Al 9,387
SMEANEA 531,500 247,000 284,500
E4THS 531,500 240,000 291,500
301 gt d= 531,500 240,000 291,500
01 MI2EZE %06z 531,500 240,000 291,500
O=sdt&EAS 531,500
- T Of 500,000& »271H 135,500
-= T ot 1,000,000& »224H 224,000
—AUTH Of 2,000,000& »774H 154,000
- OF Ol & (13] Xt) 2,000,000 »9H 18,000
dadEs 2 84 1,300,940 1,152,903 148,037
= 14,291
J| 185,352
< 87,705
Al 1,013,592
HdAUEs 2 ME 277,250 186,850 90,400
J| 5,500
S 55,250
Al 216,500
da4d@ =02l N& 13,750 13,750 0
J| 5,500
Al 8,250
307 glz2tol & 13,750 13,750 0
J| 5,500
Al 8,250
11T M SRAISE EX 13,750 13,750 0
O&EAad sotel XA 1,250,000& 114 13,750
J| 5,500
Al 8,250




=4

(R

bl

S
>
im
MO HD B~
o 1
g

toh
He

= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
AU E XA 12,000 8,600 3,400
201 £B-2d| 8,000 5,600 2,400
01 At 22l 8,000 5,600 2,400
OFBLTHHAZH M= S
1,000, 000& 1,000
OF-PNERCET o
00,000& *8& 62 4,800
OES=LTF-PSEPY g
100, 000& 6 H 600
OFEEEAEL &1 200, 0003 =8H 1,600
202 oddl 4,000 3,000 1,000
01 = LH o4 4l 4,000 3,000 1,000
OFAUE A g =3
4,000,000& 4,000
FadE BSEM=M XS 17,500 17,500 0
< 5,250
Al 12,250
307 glz2tol & 17,500 17,500 0
< 5,250
Al 12,250
11T M SXAIS EX 17,500 17,500 0
OFAEEEW=M X 17,500,000& 17,500
< 5,250
Al 12,250
A [RAMHAEEY 100,000 0 100,000
307 21201 A 100,000 0 100,000
11T MISAASEX 100,000 0 100,000
OFad RAMNAEE 100,000, 000& 100,000
FadE gl =H 100,000 100,000 0
< 50,000
Al 50,000
307 21201 A 100,000 100,000 0
< 50,000
Al 50,000
11T ALSI S XAEE = 100,000 100,000 0
OFAEEXtel DEEEMY
100,000, 000& 100,000
< 50,000
Al 50,000
FA4E S0tel $HES 7,000 7,000 0
307 21201 A 7,000 7,000 0
11T MISXAISEEX 7,000 7,000 0
O&Ead s0tel &5 7,000,000& 7,000




A AL LE D
N HAEES W BA
ool HAURS U A (ol @)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
dad HZME &HE2 15,000 15,000 0
307 @lz2tol & 15,000 15,000 0
AR S XA E X 15,000 15,000 0
O3AE JZHE =& 15,000,000 15,000
gxtel dM2Ex 29 12,000 12,000 0
307 glztol & 12,000 12,000 0
M AMSIMNSEX 12,000 0 12,000
Ogicla=a 29 N 12,000,000 12,000
a8l 2 B3 1,023,690 966,053 57,637
= 14,291
Jl 179,852
= 32,455
Al 797,092
FAdsE2 2 465,930 437,702 28,228
201 242 Y| 349,190 274,670 74,520
01 AtR 2t 2l | 216,940 184,620 32,320
O+ 223 2et+=SH 50,000,000& 50,000
Oz ZT28 g2 ¥ 24X MA S
10,000,000& 10,000
OFAr2el 2258 7¢ 15,000, 000& 15,000
O¥stx & =293 4 1,500,000& 1,500
OBMN RBHAAYE SAH 970,0008 123 11,640
O=&AL 3l 400,000& »23| 800
OAaggstael ez 220,000 =12& 2,640
OdJletd el ez 350,000& =123/ 4,200
OsdJl ¢d2e 23| 410,000& *123] 4,920
OdtEx==g ¥ S| 5,000, 000& 5,000
O8AE9HI 90,000,000 90,000
OZxd 4| 1,000, 000& 1,000
ogdgasHl 160,000& =122 1,920
O=d2t SAA 23 u=x 720,000& 720
OF=Jl.H0,3J1¥&J & ¥x&
1,300,000 x12& 15,600
OFxE2E?de 28X 2,000,000& 2,000
02 s5=3Hl 132,250 90,050 42,200
OIS 2,500,000 x12& 30,000
Odotl== = 250,000 =122 3,000
OZANIAR S 1,700,000 x12& 20,400
OAotd &3l 50,000& %12 50
OAlE= S22l 20,000,000& 20,000
O&Jl - 8¢ &Hl |KANE=+ 700,000& 700




A A8 AE Y
HY: HAUE5 U S
el 328X ¥ BES CEE-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
O&I| &H 22 500,000& 500
OFAGE =2 ZSHOIX JIsHAAE
22,000,000 22,000
OFAELE2 EHOIX RALE
800,000 x12& 9,600
O3sEXs A2l 4.,000,000& 4,000
OAlAE HLtB)| HAH| RXE=
2,200,000 =10CH 22,000
202 o4 H| 2,500 0 2,500
01 2Ll 2,500 0 2,500
OFAaUd L2 22X 2,500,000 2,500
301 et A= 114,240 110,976 3,264
12 JIEtE2 A= 114,240 110,976 3,264
O2 A& 35,0003 x68& Xt *43| x12& 114,240
HAEUZEEU2AXH (=) 15,750 31,500 A 15,750
= 7,875
Al 7,875
307 QI2t0| ™ 15,750 14,700 1,050
= 7.875
Al 7,875
11T A EXAIEEX 15,750 14,700 1,050
OFAEHZRUR2IXH (MAIS)
15,750,000 15,750
< 7,875
Al 7,875
Hald AE=2EXHEH 29 165,080 165,080 0
307 QI2t0| ™ 165,080 165,080 0
05 QIZtRES 165,080 165,080 0
OFAEALGFXNALAEH 2H 165,080,000 165,080
ANZ HAEALETMHME SAXN ALMAH X2 4,800 6,000 A 1,200
o= 4,800
301 et A= 4,800 6,000 A 1,200
o=} 4,800
01 Al E& A 252 4,800 6,000 A 1,200
OFALAENMNYEXNHME SALA HSRIHAH(8YH)
4,800,000 4,800
= 4,800
HAa4d Roletd N= 10,700 10,700 0]
201 et 3,600 3,600 0
01 AP 2t 2] H| 3,600 3,600 0
OFAERNestdEsS &L ESAY &
1,000,000 1,000
OFAEEs Y32 5,200 x500H 2,600
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301 gt L= 4,700 4,700 0
12243 4,700 4,700 0
OFAURMEZ LD Z&F 500,000& 500
OBAESHBALAD Sy
3,000 «70H »23| 10 4,200
307 glz2+ol & 2,400 2,400 0
11T MISRASEX 2,400 2,400 0
OFAadRoiad NASAEH 294
2,400,000& 2,400
NAHLEFHHI? 2E (M2 HMURARS]) 2,800 2,800 0
J| 1,400
Al 1,400
307 glz2tol & 2,800 2,800 0
J| 1,400
Al 1,400
11T MISXASEX 2,800 2,800 0
OXtMte&s 2¢ XN& 2,800,000 2,800
J| 1,400
Al 1,400
HAHSIHASIZ(HAERMHESIZASIH) 2,776 2,776 0
< 1,388
Al 1,388
301 e A= 2,776 2,776 0
< 1,388
Al 1,388
02 etz Lsetita 2,776 2,776 0
OFLY SAESZ(HBLAERNSAZAIT It
H)(2g) 2,776,000& 2,776
= 1,388
Al 1,388
KNAAME ELAESEXNZAA = 94,700 92,300 2,400
J| 47,350
Al 47,350
307 21201 A 94,700 92,300 2,400
J| 47,350
Al 47,350
11T MISAASEEX 94,700 92,300 2,400
OFLASE XA MA(CYS-Net) F=(10HA)
94,700,000& 94,700
J| 47,350
Al 47,350
FAUSENH TR0 23 101,463 78,910 22,553
J| 40,585
< 9,132
Al 51,746




AN 0 aE D
HY: HAUE5 U S
el 328X ¥ BES CEE-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 101,463 78,910 22,553
J| 40,585
< 9,132
Al 51,746
11T M SXASEEX 101,463 78,910 22,553
OAESEL T2 29X
101,463, 000& 101,463
J| 40,585
= 9,132
Al 51,746
dadE SEXNEAY 7,000 7,000 0
J| 4,900
< 315
Al 1,785
301 et d=s 7,000 7,000 0
J| 4,900
< 315
Al 1,785
01 MEI2EZE 06z 7,000 7,000 0
OSENdUs F2dEXE 7,000,000& 7,000
J| 4,900
< 315
Al 1,785
st & HAdE XA 122,310 119,145 3,165
J| 85,617
Al 36,693
307 glz2+ol & 122,310 119,145 3,165
J| 85,617
Al 36,693
10 ALSISXAIEEE2EHEX 88,800 87,645 1,155
Osw 5 FA4E X2 (1HA,3H)
88,800,000& 88,800
J| 62,307
Al 26,493
11T MISAASEX 33,510 31,500 2,010
Osgtw & d#4d X& 33,510,000& 33,510
J| 23,310
Al 10,200
AT &8 43 XNJHEH SAHL HLIHLEl X 1,800 1,800 0
< 1,800
301 et a = 1,800 1,800 0
< 1,800
01 MEIBEE 063 1,800 1,800 0
OAlZ sust HAd XJME SAX HR2M
&Hl(38) 1,800, 000& 1,800
< 1,800
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< 5,686,300
11T M SRASE EX 5,686,300 5,742,000 A 55,700
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< 5,686,300
FolME nHEE2 XJ 962,336 921,380 40,956
< 481,168
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307 glz2tol & 962,336 921,380 40,956
[ 481,168
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< 481,168
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= 962,000
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Al 481,000
10 AL SXAIEEE2EH EX 1,924,000 1,898,000 26,000
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Al 481,000
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11T M SXAISE EX 43,936 42,660 1,276




2A: o
H

X XH - 3
S =

¢l oieol

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

OOold wiMu-dl(4454) 43,936,000& 43,936
21,968
10,984
10,984

= N W

2
[
=
ipal
Fo
02
Pl
Y
=
o
A0
02
=

13,387 11,726 1,661
6,693
3,347
3,347

= MW

307 glztol & 13,387 11,726 1,661
6,693
3,347
3,347

= M W

10 A SXAEHE2SEHIEX 13,387 11,726 1,661
OO0y Xt2HHl(6oHA) 13,387,000& 13,387

6,693
3,347
3,347

= W

HElold tideraEerd (&tl) 32,000 28,480 3,520

16,000
16,000

= N

307 21201 & 32,000 28,480 3,520

16,000
Al 16,000

H

10 Al S XA E€HE 2 S|
[¢]

22X 32,000 28,480 3,520
OCEOold thdiels ol

2181 (4002)
32,000,000& 32,000

16,000
16,000

= M

U
W
og
=
m
e
o
Mo
02
=2

188,000 179,600 8,400
94,000
47,000
47,000

= N W

307 glztol & 188,000 179,600 8,400
94,000
47,000
47,000

= N W

10 A SAAIEHISSHIEX 188,000 179,600 8,400
O228 ofelolE XA (3HA) 188,000,000 188,000
94,000

47,000
47,000

= M W

0K
0
og
=)
m
o
™
e
Y
=

36,000 28,800 7,200

18,000
18,000

= M

307 21201 & 36,000 28,800 7,200

18,000
Al 18,000

2l

_20_




2A: o
H

X XH - 3
S =

¢l oieol

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

10 A SAAEHI2SHIEX 36,000 28,800 7,200
OS3E0ME0lE =clad Al X (4HA)
36,000,000& 36,000

18,000
18,000

= M

FIZUHEH 29 4,900 6,400 A 1,500
2,450
1,225
1,225

= W

301 €EtE &= 4,900 6,400 A 1,500
2,450
1,225
1,225

= N H

12JEEd= 4,900 6,400 A 1,500
=]

4,900,000 4,900
2,450
1,225
1,225

= M W

H
10
EJ
Bl
Y
e
e
=
s
Y
02
(=)
rz
oo
on

1,412,600 1,109,920 302,680
706,300
353,150
353,150

= M W

307 21201 & 1,412,600 1,108,920 302,680
706,300
353,150
353,150

= N W

F2EHEX 1,412,600 1,109,920 302,680
OZotdg S WA 212AHH|(86Y)

1,412,600,000& 1,412,600
706,300

353,150
353,150

= 0 W

Il
(s]
J

ry ezt 2ol

™
FA
o
o
e
e
=

264,000 162,000 102,000

99,000
165,000

0
F
i

= M

307 21201 & 264,000 162,000 102,000

99,000
Al 165,000

H

10 A SAAIEHIESSHIEX 264,000 162,000 102,000
OJtd - 22t Heold Zeld lAdHl(55%)
264,000,000& 264,000

99,000
165,000

= M

0H
0
opr
(=)
m
(=)
it
Ho
02
gk
0x
k_(gj

77,760 48,000 29,760

38,880
Al 38,880

H




AN 0 aE D
Hu: s= SRHT X4
el OfRI0IE KW ¥ B2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
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O238 ey 2ge4ds K& (216¥)
77,760,000 77,760
< 38,880
Al 38,880
ot HEEESHE T2 111,600 100,800 10,800
< 55,800
Al 55,800
307 gl2tol & 111,600 100,800 10,800
< 55,800
Al 55,800
10 AL SXNAIEEE2EH EX 111,600 100,800 10,800
Ogot EEEs1E T2 X2 (76%)
111,600, 000& 111,600
< 55,800
Al 55,800
ESUAN 2Y & 22 7,700 7,700 0
201 Let249] 5,700 5,700 0
01 At 22l 5,700 5,700 0
OBEZ M A= 100,000 «8H x33] 2,400
OESAH U XI&E T2 10,000& 1605 1,600
Oelold BaF ws 500,000& *23| 1,000
O22Me e (A HEAHE0F)
700,000& 700
202 O4dl 2,000 2,000 0
01 = LH 4 1 2,000 2,000 0
EFHA =2 2,000,000& 2,000
SRSAHIXA 108,000 108,000 0
301 LerEd = 108,000 108,000 0
01 MEIBEE 2063 108,000 108,000 0
O0eold 2Rs44H X&
100,000& x90H A+ 12& 108,000
0el0ld dHeH XA 54,000 54,000 0
301 et 8= 54,000 54,000 0
01 MEI2EZE 405z 54,000 54,000 0
Oogold & - Hetdl X3
100,000& 90 A 6 & 54,000
oelold stots 2s3sl XN 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
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11T MISXASEX 3,000 3,000 0
ESUWA AS9Y JIEE#-A 3,000,000 3,000
ESUA F3ASE 10,000 7,000 3,000
307 21201 A 10,000 7,000 3,000
11T AR SXAIEE =X 10,000 7,000 3,000
OBSuUAN A3S 10,000, 000& 10,000
Helold storg 21t gl 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
11 AL S XAEE = 5,000 5,000 0
Oogold stotg 221 tal 5,000,000& 5,000
Helold sidzel2208 RN XA 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
11T M 2XAIS EX 12,000 12,000 0
ONeold gH2aelEx20d SN2
100,000 » 12004 2 12,000
Helold MIIdEH =3 K& 7,932 7,932 0
201 £B-2%H| 7,932 7,932 0
01 At 22l 7,932 7,932 0
OORI0IE FIIGHHHY +48
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Al 103,673
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Al 103,673
10 ALl SXNAIEEE2EH EX 121,968 77,600 44,368
OO0lglold BII1&FI| XA (46200)
121,968, 000& 121,968
< 18,295
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Eotels0ielold K& 29,900 0 29,900
307 gl2tol & 29,900 0 29,900
11 ALSI S RALEE = 29,900 0 29,900
O HeIE HEold 298 XA 23,400
-20@! Olst &0l 800,000 »187H A 14,400
2121 0ol& ogold 1,000,000& *9H 2 9,000
OMeE Helold =2 XN 6,500
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< 1,248,980
Al 1,392,980
SN MM NA(BZ WA 21244l) 694,000 490,000 204,000
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< 173,500
Al 173,500
307 21201 A 694,000 490,000 204,000
= 347,000
< 173,500
Al 173,500
10 ALSISXAIEEE2GHEX 694,000 490,000 204,000
OEZ WAL o124 (75%) 694,000,000 694,000
= 347,000
< 173,500
Al 173,500
SSWXA HRMS X2 (HAMDA 124dl) 194,000 132,000 62,000
= 97,000
< 48,500
Al 48,500
307 21201 A 194,000 132,000 62,000
= 97,000
< 48,500
Al 48,500
10 AL SXNAIEEE2EH EX 194,000 132,000 62,000
OUM WAL QI AHI(7Y) 194,000, 000& 194,000
= 97,000
< 48,500
Al 48,500
BEWNA MM X2 (nAZES SF) 52,920 52,400 520
= 26,460
< 13,230
Al 13,230
301 L2 LS 52,920 52,400 520
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= 26,460
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01 MEIBEZE 05z 950,000 928,000 22,000
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< 237,500
Al 237,500
ESWEHIA HR2ME XN (sEESWAH) 103,800 87,200 16,600
= 51,900
< 25,950
Al 25,950
301 et Az 103,800 87,200 16,600
= 51,900
< 25,950
Al 25,950
01 AR 2Z A 53 103,800 87,200 16,600
O=ZEERUAN SEZ2Z(80Y)
103,800, 000& 103,800
= 51,900
< 25,950
Al 25,950
Heold nd Ex1= 6,000 6,000 0
= 3,000
< 1,500
Al 1,500
301 et a3z 6,000 6,000 0
= 3,000
< 1,500
Al 1,500
01 AR 2Z A5 3 6,000 6,000 0
O0elold W BE+1=s(59%) 6,000,000& 6,000
= 3,000
= 1,500
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01gl0ld A MR 1,056,600 1,105,800 A49,200
< 528,300
Al 528,300
301 gtE L= 1,056,600 1,105,800 A49,200
< 528,300
Al 528,300
01 MI2EZE 6= 1,056,600 1,105,800 A 49,200
O0lglold nEF MRIHLHI(534H)
1,056,600, 000& 1,056,600
< 528,300
Al 528,300
ZOHOtE OB S =224 147,600 157,560 A 9,960
< 73,800
Al 73,800
301 gt 4= 147,600 157,560 A 9,960
< 73,800
Al 73,800
01 Ml2ZE 6= 147,600 157,560 A 9,960
OOttt At & S22 K2 (249%)
147,600, 000& 147,600
= 73,800
Al 73,800
ESWIY Bl2sH 144,000 120,000 24,000
301 et A= 144,000 120,000 24,000
01 Mel28E 6= 144,000 120,000 24,000
OEsuxd FJI2s5X&
50,0003 «240H «128 144,000
G0l WAF MHAHl =t X& 293,400 228,600 64,800
< 146,700
Al 146,700
301 et A= 293,400 228,600 64,800
< 146,700
Al 146,700
01 AR 2E A5l 3 293,400 228,600 64,800
OG0l E WAL HRIMEHl =t K& (490%)
293,400,000& 293,400
= 146,700
Al 146,700
SEx0go0lE XA 544,571 551,684 AT,113
= 1,285
< 271,643
Al 271,643
NLAARSEESALE2HE(SYI) 182,400 140,400 42,000
< 91,200
Al 91,200
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307 glz2tol & 182,400 140,400 42,000
< 91,200
Al 91,200
10 ALl SXAIEEE 2 H EX 182,400 140,400 42,000
OAMZHESE ol 22 (38HA)
182,400, 0003 182,400
< 91,200
Al 91,200
OMIOF M2 AE 22 (&Hl) 339,600 392,256 A 52,656
< 169,800
Al 169,800
307 gl2tol & 339,600 392,256 A 52,656
< 169,800
Al 169,800
10 AL SXNAIEEE2EH EX 339,600 392,256 A 52,656
OOMIOF MEAIE 2 (60i4)  339,600,000& 339,600
< 169,800
Al 169,800
ZOHOt ¥2 Heold K& 20,000 16,400 3,600
< 10,000
Al 10,000
307 glz2tol & 20,000 16,400 3,600
< 10,000
Al 10,000
10 ALSISXAIEEE2GHEX 20,000 16,400 3,600

OZOHOF 2 HEol® XA (1)

20,000,000& 20,000
< 10,000
Al 10,000
oHelold 2SN (sHELT Bl 2,571 2,628 NB7
= 1,285
& 643
Al 643
307 21201 A 2,571 2,628 Y4
= 1,285
& 643
Al 643
10 A SIAEHE2SEHIEX 2,571 2,628 VaNGY4
OsHELAN HAUBO0IE K& (1HA)
2,571,000& 2,571
= 1,285
< 643
Al 643
Oeold Jis2d ¥ &3id 39,500 73,484 A 33,984
= 16,000
< 8,000
Al 15,500
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= 16,000
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Al 8,000
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Al 8,000
11T A EXAIEEX 32,000 0 32,000
OOSI0lIE SHHMME (2 A) 32,000,000 32,000
= 16,000
=} 8,000
Al 8,000
ANEOHeolE JIsEd 7,500 7,500 0
202 o4 | 1,500 1,500 0
01 2Ll 1,500 1,500 0
BN 38 S gR2F&X 1,500,000 1,500
307 212t0| & 6,000 0 6,000
11T A EXAIEEX 6,000 0 6,000
OANENHE0IE JlsELdAY
2,000,000 304 & 6,000
HHSHAH (ML AE ) 53,160 55,080 A 1,920
JI2ZH (HEEAEY) 53,160 55,080 A 1,920
Jl2dH (8™ AE W) 53,160 55,080 A 1,920
201 gEt24A Y| 15,000 15,000 0
01 AP 22| d| 15,000 15,000 0
OB ASI A2 22| | 15,000,000& 15,000
202 044 34,560 36,480 A 1,920
01 2L HI 34,560 36,480 AN 1,920
OJIE2dL2=30H|(18H) 34,560,000 34,560
203 R F & 3,600 3,600 0
04 EASHEIRFAH| 3,600 3,600 0
OBAN2EH2=&H| (202 0lal)
300,000 x12& 3,600
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